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WHAY IF? > Suppose you are analyzing the DNA from the
polar bodies formed during human oogenesis. If the
woman who produced the oocyte has @ mutation in a
known disease gene, would analyzing the polar body DNA
allow you to infer whether the mutation is present in the
mature oocyte? Explain. us luteum
BAEEY O HP N AT B 2 Y L R S AR
(passive uptake)#ic(diffusion)m # £/t (mass flow)™ 7V :i& » 42
F A B 2R B el R P AT RIS FIE RS
40 | & 'z (epidermal cells)fri? A & (cortex)z *t k chimre ¥ » FRECFH | AR E %

PAIE A A f B T SR R 6 ff o SRR E R 5 (A) ks
% e

z(passive uptake) °




